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Note : This paper is of forty (40) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. “The geological history of India is a culmination of 

variations.” Discuss the statement. 

ßHkkjr dk HkwxfHkZd bfrgkl fofHkUurkvksa dks latks;s gq, gSAÞ 

bl dFku dh O;k[;k dhft,A  

2. “Dividing India into climate regions is a difficult task.” 

Explain in detail.  

ßHkkjr dks tyok;q izns’kksa esa ck¡Vuk ,d dfBu dk;Z gSAÞ 

foLrkj ls le>kb,A  

3. Give a detailed account of distribution of irrigated area 

and sources of irrigation in India.  

Hkkjr eas flafpr Hkwfe ds forj.k ,oa flapkbZ ds lk/kuksa dh 

foLr`r O;k[;k dhft,A  

4. Critically evaluate the population distribution and 

density in India.  

Hkkjr esa tual[;k ds forj.k ,oa ?kuRo dk leh{kkRed 

ewY;kadu dhft,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the culture and society of Santhal tribe.  

laFkky tutkfr dh laLd`fr ,oa lekt ij ppkZ dhft,A  

2. Discuss the trends of urban population growth in India.  

Hkkjr esa uxjh; tula[;k o`f) dh izo`fŸk;ksa ij ppkZ 

dhft,A  

3. Divide India into agriculture regions.  

Hkkjr dks d`f”k izns’kksa esa ck¡fV;sA 

4. Discuss the flood distribution in India.  

Hkkjr esa ck<+ ds forj.k ij ppkZ dhft,A  

5. Discuss the major energy resources of India.  

Hkkjr ds izeq[k ÅtkZ lalk/kuksa ij ppkZ dhft,A  

6. Discuss the Export-Import Policy of India.  

Hkkjr dh vk;kr&fu;kZr uhfr ij ppkZ dhft,A  

7. Discuss the types of forests in India.  

Hkkjr esa ouksa ds izdkj ij ppkZ dhft,A  

8. Write a note on the types of drainage system in India.   

Hkkjr eas izokg ra= ds izdkjksa ij ,d uksV fyf[k,A  
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. The standard parallel of India is : 

(a) 82°30' E 

(b) 88°10' E 

(c) 55°E 

(d) 60°30' E 

Hkkjr dk ekud ns’kkUrj gS % 

¼v½ 82°30' iw- 

¼c½ 88°10' iw- 

¼l½ 55° iw- 

¼n½ 60°30' iw- 

2. In which state Vindhyan rocks are not found in : 

(a) Meghalaya  

(b) Karnataka  

(c) M.P. 

(d) U.P. 
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fdl jkT; esa foU/;u pêkusa ugha feyrh % 

¼v½ es?kky; 

¼c½ dukZVd 

¼l½ ,e- ih- 

¼n½ ;w- ih- 

3. Which river divides peninsular India into two parts ?  

dkSu&lh unh izk;}hih; Hkkjr dks nks Hkkxksa esa ck¡Vrh gS \ 

4. Narmada river originates from .............. . 

ueZnk unh dk mn~xe gS 
------------------

A 

5. Which pass is located in Sikkim ? 

dkSu&lk njkZ flfDde esa fLFkr gS \ 

6. What is the per capita forest area in India ? 

Hkkjr esa izfr O;fDr ou {ks= fdruk gS \ 

7. What is the rank of India in world tea export ? 

Hkkjr dk fo’o pk; fu;kZr esa dkSu&lk LFkku gS \ 

8. Name the most populated state of India.  

Hkkjr ds lokZf/kd tula[;k okys jkT; dk uke crkb,A  

9. In which state maximum urban population resides ? 

Hkkjr ds fdl jkT; esa lokZf/kd tula[;k fuokl djrh gS \ 

10. In between which two places first railway line was set 

up ? 

fdu nks LFkkuksa ds e/; loZizFke jsyos ykbu LFkkfir dh xbZ 

Fkh \ 
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